
AER .

1) Binary operation a*b= maxsa.bz is

commutative : V-a.bc.IR a*b = b #a committee

a * b = Max { a ,b3
= max { b

,
a } = b # a

✓
.

associative tab, cc-R.ci#(b*c)--(a*b)*f
4

Max { a
,
Max Eb, c} } = maxfq.br?=maxSrmaxEaib3,c3

>

⇒ association ✓ .

2) Is a*b = alb a binary operator on Q ?

* : Sxs → s No ! since b=o a*b¢☒ .

not abhay operation .is commutative ? NO

Take instead (Q✗☒ * 7 Ques . is associate ? NO



3) (s ,* ) (T
,
# ) binary structures a bijection

f :S → T is an isomorphism if

fcrÉy> = I¥É # fig's ayes .

WE F-

4) 8=21 T= { 2n Inez } b.tn with

t.es
,
+ ) I CT

,
+7 ?

staple .

Is tree a bijection between Stand T
?

Yu
Fen)=2n¥É→.T f :S →T is abjection fYm1=¥
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,
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f ( ntm ) = 2 ( ntm ) = 2n + 2m
¥n) fÉm )

=

fin) + fcm)
.



Are CS
,
#-) and (53*1) isomorphic ?

pg
31

.

cheot . :

1) Do S and S
'

have some cardinality ?
181 c- IN size if S is finite

Ix
.

No isomorphism between (☒3.) and CRY . )

2) Do ( S,*) and (5) *
' ) have identityel-nedt.es

Thin 3.143 missing

3) Order of elements (to come in section 5)
.


